2016 SRIEINE

5 F1H 2016412H3H
1 [T$X55BA VS 10 MR
H= A=
eI T T eI
I % AR 1t B % BER
& AR 7 - Y W - B 7 R
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 6H = 980 1t 6H = 980
2 it x 3NT = -400 [£3] 2Sx -2 -500 3
3 panyiic] [£3] 6H = 980 1t 4H +3 510 10
4 WE=] [ri] 3S +1 -170 1t 5Hx -4 -1100 14
5 it [£3] INT -1 -100 [ri] 3S -2 100 5
6 ,?ﬁ [£3] 3NT -4 -200 [£3] 4H -4 -200
7 PE=] [ri] 3NT = -600 [ri] 3NT = -600
8 TS [ri] 3NT -2 100 [ri] 4S = -420 11
9 panyiie] [£3] 5D = 400 [ri] 3H -1 100 7
10 | WHB x 2H +2 -170 x 2H +2 -170
DATUMSit T
I $KEEPA I PE Y. X+ 45 5
I =T ING S 14 RSAN/ iR -32 ait 45 5
BRI/ KBERIRS 32 BRERIR/ PRES -14 V.P. 19.22 | 0.78




2016 SRIEINE

%55 2% 2016412 3H
2 R VS 11 £FKPA
H= A=
R ST SN R
T P I =m0k 7 - m
5B 75 - 41157 - 7 MR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 6H = 980 1t 6H = 980
2 it [£3] 3Sx -3 -800 x INT +1 -120 12
3 panyiie] [£3] 4H +3 510 1t 4H +3 510
4 PE=] [ri] 3S = -140 1t 4H -2 -200 2
5 it [ri] 2S -1 50 [ri] 2S +1 -140 5
6 panyiic] 1t 3C = 110 1t 3NT -3 -150 6
7 PWE=] [ri] 3NT = -600 x 3NT = -600
8 TS [ri] 3NT -2 100 [ri] 4S -1 50 2
9 panyiic] [£3] 3D +2 150 [£3] 3D +2 150
10 | \WHB x 3NT = -600 x 4H = -620 1
DATUMSit T
LR EFKEA Y. X+ 16 | 12
B&REIHR/ XIS -8 EZrR/BE -9 ait 16 | 12
P HEMNETT 9 Fat=sa Ly VIES 8 V.P. 115 | 85
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B 5% 935 20164-12H3H
3 Sleepless VS 12 HEFBA
= A=
Sleepless a&TBA a&ZTBA Sleepless
b : R Y 7R : BMHED 1t - 22588 K GIE
/B BRE 7Y« B A SKER i =178
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 XNT5 1t 6H = 980 1t 6H = 980
2 |Edt| m= 2s | 2 | 200 ]| F& | 2anT | = | 120 2
3 |&AE| & 4H | +3 | 510 | 4t 6H | +1 | 1010 11
4 |wE| & 3S = | -140 | 4t 4C | -1 | -100 1
5 |fdbl & | AaNT | +1 | 120 | 7 2s | -1 50
6 |FAE| = 3¢ | -1 | -50 it | 3NT | -4 | 200 | 4
7 |wm&a| /A | 3NT | +1 | 630 ] Z& | 3NT | = | -600 1
8 | WE| 4s | 1 50 P8 | 3NT | = | -400 | 10
9 | KA 3H | -1 | 100 | 4H | -2 | 200 3
10 |[wal &® 2H | +3 | 200 | 7 | 3NT | +1 | -630 | 10
DATUM%tit g
Sleepless HEFBA Y. =] 26 18
MR X/ RS 8 ZFHHR/KEIR -2 ait 26 | 18
SRF/IYY 2 AMEVESK 8 | VP |wes| v
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%5 % 94 5 2016412 H3H
4 sysujnuscut VS 13 BRI 2PA
= H=
sysujnuscut ERII2PA ERIT2BA sysujnuscut
3t : IRk IR EHE it : 388 R BRITR
mE : JEth 7Y : BFRTT . SNE 78 : 5K
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |WwE| = 4H | +1 | 450 | 4t 6H = | 980 11
2 |Edt| = 2s | 2 | 200 ]| F& | oanT | = | 120 2
3 |&&xF| 7 | 4Sx | -3 | 800 | it 4H | +3 | 510 7
4 |WB| 4t | 5Hx | -3 | -800 | 4S = | -620
5 | &b LL PAS B | INT | = 90 3
6 |F&m| 4t | aNT | -2 | -200 | 4t 3C = | 110 5
7 |WBl &= | 3NT | -1 | 100 | & | AINT | +3 | -180 | 7
8 |WEk| it | 2bx | -3 | -500 | 7 4S = | -420 2
o |FAE| F 4H | -2 | 200 | ™ 3D = | 110 3
10 |[wal & 2H | +2 | -170 | & 4H = | -620 | 10
DATUM%tit g
sysujnuscut BRI 2RA Y, -1 27 28
R/ fEHR -10 SER/ S NE -9 ait 27 28
BRI TIR/ 5K 9 EE/IFRARTT 10 V.P. 9.61 | 10.39
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%55 5 R 2016412 3H
7 2P VS 9 KIELIPA
H= A=
S SR ST S
It T 7 - me 1t - e 7 - me
B tAER 7 : ErER A XEIR 74 . EEE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 5H +1 480 [£3] 7H = 1510 14
2 it x INT +1 -120 x INT +2 -150 1
3 panyiic] 1t 4H +3 510 1t 4H +3 510
4 PE=] 1t 4H -1 -100 [ri] 2S +2 -170 2
5 it x 2S = -110 [£3] INT = 90 5
6 panyiie] [£3] 3H -2 -100 [ri] 2C -2 200 7
7 E=] [ri] 3S +1 -170 [ri] 3NT = -600 10
8 TS [ri] 4S = -420 [ri] 3NT -2 100 11
9 panyiie] [£3] 5D = 400 [£3] 5D = 400
10 | \WHB x 4H +1 -650 x 4H = -620 1
DATUMSit T
E5:2PA KIELIPA Y. %+ 13 38
FREFEARER  -13 TR X IR 25 &it 13 | 38
TIR/EER -25 YSBRXE/ERE R 13 V.P. 3.03 | 16.97
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%5 %6 R 2016412 3H
6 I EKEIPA VS 8 HLLKZE
H= A=
[ A A [
ITpp—. P T 7 [
e — 7 TEN & - FREOR 7 : 72N
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 6H = 980 [£3] 4H +2 480 11
2 it x INT +1 -120 x INT +1 -120
3 panyiie] 1t 4H +3 510 1t 4H +3 510
4 WE=] 1t 4H -1 -100 1t 4H -1 -100
5 it [£3] INT +1 120 LL PAS 3
6 ,?ﬁ [£3] 2H +1 140 [£3] 2H = 110 1
7 E=] x 3NT = -600 [ri] 3NT +1 -630 1
8 TS [ri] 4S -1 50 [ri] 3NT -2 100 2
9 ,?ﬁ x 5Hx -4 1100 [£3] 3D +2 150 14
10 | \WHB x 3H +2 -200 x 3H +1 -170 1
DATUMSit T
I $R€IPA ALXE Y. X+ 30 3
SEE/EEE 34 AR/ BRI 3 ait 30 3
{aI<F{E/55/)\E8 -3 AR/ EmEX -34 V.P. 17.33 | 2.67
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% 5% 875 20164F12H3H
5 I MERT VS 14 885
A= H=
TMERT Bz Bz TMERT
it : R it : K
m [ [z g :
x| | R | m | R | mee| e | 2 |er axe| 20| T

1 | Wk
2 | Bt
3 | R
4 | B
5 | @it
6 | 5r
7 | B
8 | Wxk
9 | IR
10 | WH

DATUM% it g

I~ HERT e v -]

/ O / O ait
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